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MA 161 EXAM I Fall 2009

1) The interval which corresponds to the values of = satisfying |3z — 2| < 5 is

~ 5 < Brx—d <&

A) (1,3)
—s :; ik ;; —> B) (-1,7/3)
! L C) (1,3]
(=1, 5/ D) (~1,7/3]
E) [1, 3]

2) The center and the radius of the circle represented by the equation
3z% +3y? — 3z 4+ 2y = 1 are respectively

™ = ERFRES an:
3 (1= x4ty *%?”’é‘") 1+?+j A) (1/2,1/3) and 5/6

Z R / by e B (12

3 (x—5)" (97%)°] = 2y t C) (1/4,1) and 5/6
=3<  —3D)(1/2,-1/3) and 5/6
) (1/2,~1/3) and 7/6
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4) The domain of the function f(z) = \/\/9;_&; is
ol ) E2Gansl 2> x A) [3,3]
—7 B)[-3,2)
C) (-3,2]
D) (-3,2)
E) [-3,2]

5) Let f(z) = 2% + 1, g(z) = 2% and h(z) = 23. Then f o g o h(z) is equal to

I (@[A /x))) ::',Z[:(Qy?) A) (27)% 41

- B) 26% 41
:-"’(;z@ +/ —> C) 4%’ +1
3
. 9-)6 D) 23m—|—1
- ij:/ E) (z® +2°)? +1
— X
SR

6) The graph of f(xz — 2) + 5 can be obtained from the graph of f(z) by
A) Shifting the graph of f to the left by two units and downward by 5 units
B) Shifting the graph of f to the right by two units and downward by 5 units
——7 C) Shifting the graph of f to the right by two units and upward by 5 units
D)
)

E

Shifting the graph of f to the left by two units and upward by 5 units
Shifting the graph of f to along the diagonal by 5 units
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7) The quantity log, 3 + 2log, 5 + logs 9 is equal to

T/@g 3+ a8 "’”@93%

ot —3 ., , 4 _
3:c+7lsf (z) =

£ hy

8) The inverse of the function f(z) =

SoJve . y= 5972
39%7
3xyt7x =5y
7x+3 T4 [5=3x)

4=

— 4
Evaluate lim -EEU—?——
z——4 12420 — 8§

choose the answer DNE.)

9)

et

st
R ————

k= =4 &w/)/x«))
2 (-7

w_wi% =

pes— 5

if it exists. (If it does not exist,

ggﬁﬁﬁwﬁﬂ B
V- q/(%}é?ﬂﬂu C

—=2A) log, 300

B) log, 450
C) log, 500
D) log, 700
E) log, 900

3z —T7
) 5— 3z
3z +5
7— 3z
T —5
5—3x
T —3
5—3z
Tr 4+ 3
)5“3:13
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Vt+1-—-2
10) Evaluate lim ———+—, if it exists. (If it does not exist, choose the

t—3 t—3
answer DNE.)

23 [ (fer H

I ./
= T T

[ &+ 4

= fym. [%#«M%")

1
11) Let a = lim (2® —z) and b = lin%) (z® — zsin —). Evaluate @ and b. (If the limit

T—00 r— T

does not exist, choose DNE.)

4= Loy X7-x)= /m x*174) = co

X -2 co P

/é"::/% [\c%“)o’zﬁ/l/z%)f%@ X{d*\/""s’%i’)

Y0 > O

A)a=0,=0

) a = —o0, b DNE
C) a =0, b DNE
D) a =00, b DNE

oo

~—3E) a=00,b=0
=0 A% Sguesze Wt 42, .

12) The total number of asymptotes, vertical and horizontal, for the graph of

floy= L L
Iri. atympts i XY
horie. asgmpt A AT

= Ui \/’”*“57%7%3 = Lo NOHL, = 3,

k=200 Y DL

/% Vt?k;‘i{. /ém %vg%ﬂ//}:‘:

X —I-po X X =2 =9

Vitrt. aSymplote & X:"’@'

€)

>

B W N RO

)

Q

)
)
D)
)

@

-3
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13) For the function F(z) pictured, which of the following statements are true?
I lim F(z) =2
z—0

II. lim F(z)=0

T2~

III. F is continuous at x=0
——> A) I only
7 Friee B) II only
- fate C) I and II only
177 %W D) 1T and ITT only
)

E) All are true

1
COST 5

—2 | represents the derivative of some function f(z) at some

14) The quantity, lim

"E—*T{ hanii—

number a. Select an appropriate f(x) and a.

?l\ad)”;l%’y ﬁ[%)i%g'zcj« A) f(z) =cosz—2,a=13%
) B)f(x :COSI‘—%,(L:T(
a =L
7 —> 0) f@




